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RETRRBRERE KS 1.0 1.5 2.0
Hhigi (% Z 1.0 1.0 1.0
REtRKFEEE KH=KS x Z 1.0 1.5 2.0
SRETAKEMED FH=KHXW X 9.8 215.6 N 3234 N 431.2 N
RETRMMEEND FV=FH/2 107.8 N 161.7 N 215.6 N
BEER 7o h—RILREIiR A HFARMNRILER /S (RbA)
rp = FHX hG + (W X 9.8 + FV) X (L — LG) 185 498.1 N 658.1 N 818.2 N
L' xnt 185 —Lf B RRILEZ /8 (RbB)
*L:LAXI[ZLB, LG:LGAE=IZLGB. nt=n/2 456.3 N 597.0 N 737.7 N
BEER 7o h—RILNEABIE N E
. FH ARIL TS 98.0 N/cm?| 147.0 N/em?|  196.0 N/cm?
n-A A=0.55 gm?
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nmp o 7.6 & 5.8 f& 46 &
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BRR7oh—RILLOEHHFBREAREHEICHTIREE
RILE(SS400)
) 103.1 & 68.7 & 515 &
EEISR AW HE10.1 kN/ocm’
ATULRRILE(A2-50)
7 ] 93.1 f& 62.0 f& 46.5 f&
ISR AMEHE:9.12 kN/ocm’
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